

# Fractional Hermite-Hadamard type inequalities for functions whose mixed derivatives are co-ordinated $(\log, (s, m))$ -convex

Benssaad Meryem<sup>a,\*</sup>, Meftah Badreddine<sup>b</sup>, Ghomrani Sarra<sup>a</sup>, Kaidouchi Wahida<sup>a</sup>

<sup>a</sup>Higher Normal School of Technological Education, Skikda, Algeria

<sup>b</sup>Laboratoire des télécommunications, Faculté des Sciences et de la Technologie, University of 8 May 1945 Guelma, P.O. Box 401, 24000 Guelma, Algeria

(Communicated by Madjid Eshaghi Gordji)

## Abstract

In this paper, we introduce the class of  $(\log, (s, m))$ -convexity on the co-ordinates, we establish a new identity involving the functions of two independent variables, and then we derive some fractional Hermite-Hadamard type integral inequalities for functions whose second derivatives are co-ordinated  $(\log, (s, m))$ -convex.

Keywords: co-ordinated  $(\log, (s, m))$ -convex, co-ordinated convex, Hölder inequality  
2020 MSC: 26D15, 26D20, 26A51

## 1 Introduction

One of the most well-known inequalities in mathematics for convex functions is the so-called Hermite-Hadamard integral inequality, that can be stated as follows: for every convex function  $f$  on the finite interval  $[a, b]$  we have

$$f\left(\frac{a+b}{2}\right) \leq \frac{1}{b-a} \int_a^b f(x) dx \leq \frac{f(a)+f(b)}{2}. \quad (1.1)$$

If the function  $f$  is concave, then (1.1) holds in the reverse direction (see [12]). In [4] Dragomir established the bidimensional analog of (1.1) given by

$$\begin{aligned} f\left(\frac{a+b}{2}, \frac{c+d}{2}\right) &\leq \frac{1}{2} \left( \frac{1}{b-a} \int_a^b f\left(x, \frac{c+d}{2}\right) dx + \frac{1}{d-c} \int_c^d f\left(\frac{a+b}{2}, y\right) dy \right) \leq \frac{1}{(b-a)(d-c)} \int_a^b \int_c^d f(x, y) dy dx \\ &\leq \frac{1}{4} \left( \frac{1}{b-a} \int_a^b f(x, c) dx + \frac{1}{b-a} \int_a^b f(x, d) dx + \frac{1}{d-c} \int_c^d f(a, y) dy + \frac{1}{d-c} \int_c^d f(b, y) dy \right) \\ &\leq \frac{f(a, c) + f(a, d) + f(b, c) + f(b, d)}{4}. \end{aligned} \quad (1.2)$$

\*Corresponding author

Email addresses: [benssaad.meryem@gmail.com](mailto:benssaad.meryem@gmail.com) (Benssaad Meryem), [badrimeftah@yahoo.fr](mailto:badrimeftah@yahoo.fr) (Meftah Badreddine), [sarra.ghomrani@hotmail.fr](mailto:sarra.ghomrani@hotmail.fr) (Ghomrani Sarra), [kaidouchi.wahida@gmail.com](mailto:kaidouchi.wahida@gmail.com) (Kaidouchi Wahida)

The inequalities (1.1) and (1.2) has attracted many researchers, various generalizations, refinements, extensions and variants have been appeared in the literature, see [1, 2, 3, 6, 7, 8, 9, 10, 11, 14, 16] and references therein.

Sarikaya [13] gave the following fractional Hermite-Hadamard for co-ordinated convex functions.

**Theorem 1.1.** Let  $f : \Delta \rightarrow \mathbb{R}$  be a partial differentiable mapping on  $\Delta = [a, b] \times [c, d] \subset \mathbb{R}^2$ . If  $\left| \frac{\partial^2 f}{\partial s \partial t} \right|$  is a convex function on the co-ordinates on  $\Delta$ , then one has the inequalities

$$\left| \frac{f(a,c)+f(a,d)+f(b,c)+f(b,d)}{4} + \frac{\Gamma(\alpha+1)\Gamma(\beta+1)}{(b-a)^\alpha(d-c)^\beta} \left( J_{a^+,c^+}^{\alpha,\beta} f(b,d) + J_{a^+,d^-}^{\alpha,\beta} f(b,c) + J_{b^-,c^+}^{\alpha,\beta} f(a,d) + J_{b^-,d^-}^{\alpha,\beta} f(a,c) \right) - A \right| \leq \frac{(b-a)(d-c)}{(\alpha+1)(\beta+1)} \left( \frac{\left| \frac{\partial^2 f}{\partial s \partial t}(a,c) \right| + \left| \frac{\partial^2 f}{\partial s \partial t}(a,d) \right| + \left| \frac{\partial^2 f}{\partial s \partial t}(b,c) \right| + \left| \frac{\partial^2 f}{\partial s \partial t}(b,d) \right|}{4} \right),$$

where

$$A = \frac{\Gamma(\beta+1)}{4(d-c)^\beta} \left( J_{c^+}^\beta f(a,d) + J_{c^+}^\beta f(b,d) + J_{d^-}^\beta f(a,c) + J_{d^-}^\beta f(b,c) \right) + \frac{\Gamma(\alpha+1)}{4(b-a)^\alpha} \left( J_{a^+}^\alpha f(b,c) + J_{a^+}^\alpha f(b,d) + J_{b^-}^\alpha f(a,c) + J_{b^-}^\alpha f(a,d) \right). \tag{1.3}$$

**Theorem 1.2.** Let  $f : \Delta \rightarrow \mathbb{R}$  be a partial differentiable mapping on  $\Delta = [a, b] \times [c, d] \subset \mathbb{R}^2$ . If  $\left| \frac{\partial^2 f}{\partial s \partial t} \right|^q$  is a convex function on the co-ordinates on  $\Delta$ , where  $q > 1$  with  $\frac{1}{p} + \frac{1}{q} = 1$ , then one has the inequalities

$$\left| \frac{f(a,c)+f(a,d)+f(b,c)+f(b,d)}{4} + \frac{\Gamma(\alpha+1)\Gamma(\beta+1)}{(b-a)^\alpha(d-c)^\beta} \left( J_{a^+,c^+}^{\alpha,\beta} f(b,d) + J_{a^+,d^-}^{\alpha,\beta} f(b,c) + J_{b^-,c^+}^{\alpha,\beta} f(a,d) + J_{b^-,d^-}^{\alpha,\beta} f(a,c) \right) - A \right| \leq \frac{(b-a)(d-c)}{((\alpha p+1)(\beta p+1))^{\frac{1}{p}}} \left( \frac{\left| \frac{\partial^2 f}{\partial s \partial t}(a,c) \right|^q + \left| \frac{\partial^2 f}{\partial s \partial t}(a,d) \right|^q + \left| \frac{\partial^2 f}{\partial s \partial t}(b,c) \right|^q + \left| \frac{\partial^2 f}{\partial s \partial t}(b,d) \right|^q}{4} \right)^{\frac{1}{q}},$$

where  $A$  is defined by (1.3).

Motivated by the above results, in this paper, we introduce the concept of  $(\log, (s, m))$  convexity on the co-ordinates, we also establish a new fractional identity involving functions of two independent variables, and we derive some fractional Hermite-Hadamard type integral inequalities for functions whose second derivatives are in this class of functions.

## 2 Preliminaries

In this section, we recall some definitions and lemmas that's well known in the literature, and assume that  $\Delta := [a, b] \times [c, d]$  and  $\Delta_0 = [0, b] \times [c, d]$  are two bidimensional interval in  $\mathbb{R}^2$  with  $a < b$  and  $c < d$ .

**Definition 2.1.** [15] A function  $f : \Delta_0 \rightarrow (0, +\infty)$  is said to be co-ordinated  $(\log, (\alpha, m))$ -convex on  $\Delta_0$ , if the following inequality

$$f(tx + (1-t)u, \lambda y + m(1-\lambda)v) \leq [\lambda^\alpha f(x, y) + m\lambda^\alpha f(x, v)]^t [\lambda^\alpha f(u, y) + m(1-\lambda^\alpha)f(u, v)]^{1-t}$$

holds for all  $t, \lambda \in [0, 1], \alpha, m \in (0, 1]$  and  $(x, u), (y, v) \in \Delta_0$ .

**Definition 2.2.** [5] Let  $f \in L_1[a, b]$ . The Riemann-Liouville integrals  $J_{a^+}^\alpha f$  and  $J_{b^-}^\alpha f$  of order  $\alpha > 0$  with  $a \geq 0$  are defined by

$$J_{a^+}^\alpha f(x) = \frac{1}{\Gamma(\alpha)} \int_a^x (x-t)^{\alpha-1} f(t) dt, \quad x > a$$

$$J_{b^-}^\alpha f(x) = \frac{1}{\Gamma(\alpha)} \int_x^b (t-x)^{\alpha-1} f(t) dt, \quad b > x$$

respectively, where  $\Gamma(\alpha) = \int_0^\infty e^{-t} t^{\alpha-1} dt$ , is the Gamma function and  $J_{a^+}^0 f(x) = J_{b^-}^0 f(x) = f(x)$ .

**Definition 2.3.** [5] Let  $f \in L([a, b] \times [c, d])$ . The Riemann-Liouville integrals  $J_{a^+,c^+}^{\alpha,\beta}$ ,  $J_{a^+,d^-}^{\alpha,\beta}$ ,  $J_{b^-,c^+}^{\alpha,\beta}$ , and  $J_{b^-,d^-}^{\alpha,\beta}$  of order  $\alpha, \beta > 0$  with  $a, c \geq 0$ ,  $a < b$  and  $c < d$  are defined by

$$J_{a^+,c^+}^{\alpha,\beta} f(b, d) = \frac{1}{\Gamma(\alpha)\Gamma(\beta)} \int_a^b \int_c^d (b-x)^{\alpha-1} (d-y)^{\beta-1} f(x, y) dy dx, \tag{2.1}$$

$$J_{a^+,d^-}^{\alpha,\beta} f(b, c) = \frac{1}{\Gamma(\alpha)\Gamma(\beta)} \int_a^b \int_c^d (b-x)^{\alpha-1} (y-c)^{\beta-1} f(x, y) dy dx, \tag{2.2}$$

$$J_{b^-,c^+}^{\alpha,\beta} f(a, d) = \frac{1}{\Gamma(\alpha)\Gamma(\beta)} \int_a^b \int_c^d (x-a)^{\alpha-1} (d-y)^{\beta-1} f(x, y) dy dx, \tag{2.3}$$

$$J_{b^-,d^-}^{\alpha,\beta} f(a, c) = \frac{1}{\Gamma(\alpha)\Gamma(\beta)} \int_a^b \int_c^d (x-a)^{\alpha-1} (y-c)^{\beta-1} f(x, y) dy dx, \tag{2.4}$$

where  $\Gamma$  is the Gamma function, and

$$J_{a^+,c^+}^{0,0} f(b, d) = J_{a^+,d^-}^{0,0} f(b, c) = J_{b^-,c^+}^{0,0} f(a, d) = J_{b^-,d^-}^{0,0} f(a, c) = f(x, y).$$

**Definition 2.4.** [13] Let  $f \in L([a, b] \times [c, d])$ . The Riemann-Liouville integrals  $J_{b^-}^\alpha f(a, c)$ ,  $J_{a^+}^\alpha f(b, c)$ ,  $J_{d^-}^\beta f(a, c)$ , and  $J_{c^+}^\alpha f(a, d)$  of order  $\alpha, \beta > 0$  with  $a, c \geq 0$ ,  $a < b$ , and  $c < d$  are defined by

$$J_{b^-}^\alpha f(a, c) = \frac{1}{\Gamma(\alpha)} \int_a^b (x-a)^{\alpha-1} f(x, c) dx, \tag{2.5}$$

$$J_{a^+}^\alpha f(b, c) = \frac{1}{\Gamma(\alpha)} \int_a^b (b-x)^{\alpha-1} f(x, c) dx, \tag{2.6}$$

$$J_{d^-}^\beta f(a, c) = \frac{1}{\Gamma(\beta)} \int_c^d (y-c)^{\beta-1} f(a, y) dy, \tag{2.7}$$

$$J_{c^+}^\alpha f(a, d) = \frac{1}{\Gamma(\beta)} \int_c^d (d-y)^{\beta-1} f(a, y) dy, \tag{2.8}$$

where  $\Gamma$  is the Gamma function.

### 3 Main results

In what follows, we assume that  $\Delta = [a, b] \times [c, d]$  with  $a < b$ ,  $0 < c < d$  and  $\Delta_0 = [a, b] \times [0, \frac{d}{m}]$  where  $m \in (0, 1]$ .

**Definition 3.1.** A function  $f : \Delta_0 \rightarrow (0, +\infty)$  is said to be co-ordinated  $(\log, (s, m))$ -convex on  $\Delta_0$  if the following inequality

$$f(tx + (1-t)u, \lambda y + m(1-\lambda)v) \leq [\lambda^s f(x, y) + m(1-\lambda)^s f(x, v)]^t [\lambda^s f(u, y) + m((1-\lambda)^s f(u, v))]^{1-t}$$

holds for all  $t, \lambda \in [0, 1]$ ,  $s, m \in (0, 1]$  and  $(x, u), (y, v) \in \Delta_0$ .

**Lemma 3.2.** Let  $f : \Delta \subseteq \mathbb{R}^2 \rightarrow \mathbb{R}$  be a differentiable mapping on  $\Delta = [a, b] \times [c, d]$  with  $a < b$  and  $c < d$ . If  $\frac{\partial^2 f}{\partial t \partial \lambda} \in L(\Delta)$ , then the following fractional equality holds

$$F(f, a, b, c, b, \alpha, \beta, A, J) = \frac{(b-a)(d-c)}{4} \left( \int_0^1 \int_0^1 kh \frac{\partial^2 f}{\partial t \partial \lambda} (ta + (1-t)b, \lambda c + (1-\lambda)d) dt d\lambda - \int_0^1 \int_0^1 ((1-t)^\alpha - t^\alpha) ((1-\lambda)^\beta - \lambda^\beta) \times \frac{\partial^2 f}{\partial t \partial \lambda} (ta + (1-t)b, \lambda c + (1-\lambda)d) dt d\lambda \right), \quad (3.1)$$

where

$$F(f, a, b, c, b, \alpha, \beta, A, J) = f\left(\frac{a+b}{2}, \frac{c+d}{2}\right) - \frac{f\left(a, \frac{c+d}{2}\right) + f\left(\frac{a+b}{2}, c\right) + f\left(b, \frac{c+d}{2}\right) + f\left(\frac{a+b}{2}, d\right)}{2} + A - \frac{\Gamma(\alpha+1)\Gamma(\beta+1)}{4(b-a)^\alpha(d-c)^\beta} \times \left( J_{a^+, c^+}^{\alpha, \beta} f(b, d) + J_{b^-, c^+}^{\alpha, \beta} f(a, d) + J_{a^+, d^-}^{\alpha, \beta} f(b, c) + J_{b^-, d^-}^{\alpha, \beta} f(a, c) \right), \quad (3.2)$$

$$k = \begin{cases} 1 & \text{if } 0 \leq t < \frac{1}{2}, \\ -1 & \text{if } \frac{1}{2} \leq t < 1, \end{cases} \quad (3.3)$$

$$h = \begin{cases} 1 & \text{if } 0 \leq \lambda < \frac{1}{2}, \\ -1 & \text{if } \frac{1}{2} \leq \lambda < 1, \end{cases} \quad (3.4)$$

and

$$A = \frac{\Gamma(\beta+1)}{4(d-c)^\beta} \left( J_{d^-}^\beta f(a, c) + J_{d^-}^\beta f(b, c) + J_{c^+}^\alpha f(a, d) + J_{c^+}^\alpha f(b, d) \right) + \frac{\Gamma(\alpha+1)}{4(b-a)^\alpha} \left( J_{a^+}^\alpha f(a, c) + J_{b^-}^\alpha f(a, d) + J_{a^+}^\alpha f(b, c) + J_{a^+}^\alpha f(b, d) \right). \quad (3.5)$$

**Proof .** Let

$$I = \frac{(b-a)(d-c)}{4} (I_1 - I_2), \quad (3.6)$$

where

$$I_1 = \int_0^1 \int_0^1 kh \frac{\partial^2 f}{\partial t \partial \lambda} (ta + (1-t)b, \lambda c + (1-\lambda)d) dt d\lambda,$$

and

$$I_2 = \int_0^1 \int_0^1 ((1-t)^\alpha - t^\alpha) ((1-\lambda)^\beta - \lambda^\beta) \times \frac{\partial^2 f}{\partial t \partial \lambda} (ta + (1-t)b, \lambda c + (1-\lambda)d) dt d\lambda.$$

Clearly, we have

$$\begin{aligned} I_1 &= \int_0^{\frac{1}{2}} \int_0^{\frac{1}{2}} \frac{\partial^2 f}{\partial t \partial \lambda} (ta + (1-t)b, \lambda c + (1-\lambda)d) dt d\lambda - \int_0^{\frac{1}{2}} \int_{\frac{1}{2}}^1 \frac{\partial^2 f}{\partial t \partial \lambda} (ta + (1-t)b, \lambda c + (1-\lambda)d) dt d\lambda \\ &\quad - \int_{\frac{1}{2}}^1 \int_0^{\frac{1}{2}} \frac{\partial^2 f}{\partial t \partial \lambda} (ta + (1-t)b, \lambda c + (1-\lambda)d) dt d\lambda + \int_{\frac{1}{2}}^1 \int_{\frac{1}{2}}^1 \frac{\partial^2 f}{\partial t \partial \lambda} (ta + (1-t)b, \lambda c + (1-\lambda)d) dt d\lambda \\ &= \frac{1}{(b-a)(d-c)} \left( f\left(\frac{a+b}{2}, \frac{c+d}{2}\right) - f\left(b, \frac{c+d}{2}\right) - f\left(\frac{a+b}{2}, d\right) + f(b, d) - f\left(a, \frac{c+d}{2}\right) + f\left(\frac{a+b}{2}, \frac{c+d}{2}\right) + f(a, d) \right. \\ &\quad \left. - f\left(\frac{a+b}{2}, d\right) - f\left(\frac{a+b}{2}, c\right) + f(b, c) + f\left(\frac{a+b}{2}, \frac{c+d}{2}\right) - f\left(b, \frac{c+d}{2}\right) \right. \\ &\quad \left. + f(a, c) - f\left(\frac{a+b}{2}, c\right) - f\left(a, \frac{c+d}{2}\right) + f\left(\frac{a+b}{2}, \frac{c+d}{2}\right) \right) \\ &= \frac{4}{(b-a)(d-c)} \left( \left( f\left(\frac{a+b}{2}, \frac{c+d}{2}\right) \right) + \frac{f(b, d) + f(a, d) + f(b, c) + f(a, c)}{4} - \frac{f\left(a, \frac{c+d}{2}\right) + f\left(\frac{a+b}{2}, c\right) + f\left(b, \frac{c+d}{2}\right) + f\left(\frac{a+b}{2}, d\right)}{2} \right) \quad (3.7) \end{aligned}$$

Now, by integration by parts,  $I_2$  gives

$$\begin{aligned}
 I_2 &= \int_0^1 \left( (1-\lambda)^\beta - \lambda^\beta \right) \times \left( \int_0^1 \left( (1-t)^\alpha - t^\alpha \right) \frac{\partial^2 f}{\partial t \partial \lambda} (ta + (1-t)b, \lambda c + (1-\lambda)d) dt \right) d\lambda \\
 &= \frac{1}{(b-a)(d-c)} (f(a, c) + f(a, d) + f(b, c) + f(b, d)) - \frac{\beta}{(b-a)(d-c)} \left( \int_0^1 (1-\lambda)^{\beta-1} f(a, \lambda c + (1-\lambda)d) d\lambda \right. \\
 &\quad \left. + \int_0^1 \lambda^{\beta-1} f(a, \lambda c + (1-\lambda)d) d\lambda + \int_0^1 \lambda^{\beta-1} f(b, \lambda c + (1-\lambda)d) d\lambda + \int_0^1 (1-\lambda)^{\beta-1} f(b, \lambda c + (1-\lambda)d) d\lambda \right) \\
 &\quad - \frac{\alpha}{(b-a)(d-c)} \left( \int_0^1 (1-t)^{\alpha-1} f(ta + (1-t)b, c) dt + \int_0^1 t^{\alpha-1} f(ta + (1-t)b, c) dt + \int_0^1 t^{\alpha-1} f(ta + (1-t)b, d) dt \right. \\
 &\quad \left. + \int_0^1 (1-t)^{\alpha-1} f(ta + (1-t)b, d) dt \right) + \frac{\alpha\beta}{(b-a)(d-c)} \left( \int_0^1 \int_0^1 t^{\alpha-1} \lambda^{\beta-1} f(ta + (1-t)b, \lambda c + (1-\lambda)d) d\lambda dt \right. \\
 &\quad \left. + \int_0^1 \int_0^1 (1-t)^{\alpha-1} \lambda^{\beta-1} f(ta + (1-t)b, \lambda c + (1-\lambda)d) d\lambda dt \right. \\
 &\quad \left. + \int_0^1 \int_0^1 t^{\alpha-1} (1-\lambda)^{\beta-1} f(ta + (1-t)b, \lambda c + (1-\lambda)d) d\lambda dt \right. \\
 &\quad \left. + \int_0^1 \int_0^1 (1-t)^{\alpha-1} (1-\lambda)^{\beta-1} f(ta + (1-t)b, \lambda c + (1-\lambda)d) d\lambda dt \right).
 \end{aligned}$$

Substituting (3.7) and (3.8) in (3.6), and putting  $x = ta + (1-t)b$  and  $y = \lambda c + (1-\lambda)d$ , we get

$$\begin{aligned}
 I &= f\left(\frac{a+b}{2}, \frac{c+d}{2}\right) - \frac{f\left(a, \frac{c+d}{2}\right) + f\left(\frac{a+b}{2}, c\right) + f\left(b, \frac{c+d}{2}\right) + f\left(\frac{a+b}{2}, d\right)}{2} \\
 &\quad + \frac{\beta}{4(d-c)^\beta} \left( \int_c^d (y-c)^{\beta-1} f(a, y) dy + \int_c^d (y-c)^{\beta-1} f(b, y) dy + \int_c^d (d-y)^{\beta-1} f(a, y) dy + \int_c^d (d-y)^{\beta-1} f(b, y) dy \right) \\
 &\quad + \frac{\alpha}{4(b-a)^\alpha} \left( \int_a^b (x-a)^{\alpha-1} f(x, c) dx + \int_a^b (x-a)^{\alpha-1} f(x, d) dx + \int_a^b (b-x)^{\alpha-1} f(x, c) dx + \int_a^b (b-x)^{\alpha-1} f(x, d) dx \right) \\
 &\quad - \frac{\alpha\beta}{4(b-a)^\alpha(d-c)^\beta} \left( \int_a^b \int_c^d (b-x)^{\alpha-1} (d-y)^{\beta-1} f(x, y) dy dx + \int_a^b \int_c^d (x-a)^{\alpha-1} (d-y)^{\beta-1} f(x, y) dy dx \right. \\
 &\quad \left. + \int_a^b \int_c^d (b-x)^{\alpha-1} (y-c)^{\beta-1} f(x, y) dy dx + \int_a^b \int_c^d (x-a)^{\alpha-1} (y-c)^{\beta-1} f(x, y) dy dx \right). \tag{3.8}
 \end{aligned}$$

Using (2.1)-(2.8) in (3.9), we obtain the desired result.  $\square$

**Theorem 3.3.** Let  $f : \Delta \rightarrow \mathbb{R}$  be a partially differentiable function on  $\Delta$  such that  $\left| \frac{\partial^2 f}{\partial t \partial \lambda} \right| \in L(\Delta_0)$ . If  $\left| \frac{\partial^2 f}{\partial t \partial \lambda} \right|$  is

co-ordinated  $(\log, (s, m))$ -convex on  $\Delta_0$  for some fixed  $s, m \in (0, 1]$ , then the following fractional inequality holds

$$\begin{aligned}
 & |F(f, a, b, c, b, \alpha, \beta, A, J)| \\
 \leq & \frac{(b-a)(d-c)}{4} \left( \left( \frac{1}{2(s+1)} + \frac{1}{\alpha+1} \left( B(s+1, \beta+1) + \frac{1}{\beta+s+1} \right) \right) \right. \\
 & \times \left. \left( \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right| + m \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( a, \frac{d}{m} \right) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right| + m \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( b, \frac{d}{m} \right) \right| \right) \right),
 \end{aligned}$$

where  $F$  is defined as in (3.2) and  $B(.,.)$  is the beta function.

**Proof .** From Lemma 3.2, properties of modulus, and  $(\log, (s, m))$ -convexity on the co-ordinates of  $\left| \frac{\partial^2 f}{\partial t \partial \lambda} \right|$ , we have

$$\begin{aligned}
 & |F(f, a, b, c, b, \alpha, \beta, A, J)| \\
 \leq & \frac{(b-a)(d-c)}{4} \left( \int_0^1 \int_0^1 \left| \frac{\partial^2 f}{\partial t \partial \lambda}(ta + (1-t)b, \lambda c + (1-\lambda)d) \right| dt d\lambda + \int_0^1 \int_0^1 ((1-t)^\alpha + t^\alpha) ((1-\lambda)^\beta + \lambda^\beta) \right. \\
 & \times \left. \left| \frac{\partial^2 f}{\partial t \partial \lambda}(ta + (1-t)b, \lambda c + (1-\lambda)d) \right| dt d\lambda \right) \\
 \leq & \frac{(b-a)(d-c)}{4} \left( \int_0^1 \int_0^1 \left[ \lambda^s \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right| + m(1-\lambda)^s \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( a, \frac{d}{m} \right) \right| \right]^t \right. \\
 & \times \left[ \lambda^s \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right| + m(1-\lambda)^s \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( b, \frac{d}{m} \right) \right| \right]^{1-t} dt d\lambda + \int_0^1 \int_0^1 ((1-t)^\alpha + t^\alpha) ((1-\lambda)^\beta + \lambda^\beta) \\
 & \times \left. \left[ \lambda^s \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right| + m(1-\lambda)^s \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( a, \frac{d}{m} \right) \right| \right]^t \times \left[ \lambda^s \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right| + m(1-\lambda)^s \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( b, \frac{d}{m} \right) \right| \right]^{1-t} dt d\lambda \right) \tag{3.9}
 \end{aligned}$$

Applying Young’s inequality for (3.10) we get

$$\begin{aligned}
 & |F(f, a, b, c, b, \alpha, \beta, A, J)| \leq \frac{(b-a)(d-c)}{4} \times \left( \int_0^1 \int_0^1 t \left[ \lambda^s \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right| + m(1-\lambda)^s \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( a, \frac{d}{m} \right) \right| \right] dt d\lambda \right. \\
 & + \int_0^1 \int_0^1 (1-t) \left[ \lambda^s \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right| + m(1-\lambda)^s \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( b, \frac{d}{m} \right) \right| \right] dt d\lambda \\
 & + \int_0^1 \int_0^1 ((1-t)^\alpha + t^\alpha) ((1-\lambda)^\beta + \lambda^\beta) \times \left[ t \lambda^s \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right| + m(1-\lambda)^s \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( a, \frac{d}{m} \right) \right| \right] dt d\lambda \\
 & + \int_0^1 \int_0^1 ((1-t)^\alpha + t^\alpha) ((1-\lambda)^\beta + \lambda^\beta) (1-t) \times \left. \left[ \lambda^s \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right| + m(1-\lambda)^s \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( b, \frac{d}{m} \right) \right| \right]^{1-t} dt d\lambda \right) \\
 = & \frac{(b-a)(d-c)}{4} \left( \left( \int_0^1 t dt \right) \times \left( \int_0^1 \left[ \lambda^s \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right| + m(1-\lambda)^s \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( a, \frac{d}{m} \right) \right| \right] d\lambda \right) \right. \\
 & + \left. \left( \int_0^1 (1-t) dt \right) \times \left( \int_0^1 \left[ \lambda^s \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right| + m(1-\lambda)^s \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( b, \frac{d}{m} \right) \right| \right] d\lambda \right) \right)
 \end{aligned}$$

$$\begin{aligned}
 & + \left( \int_0^1 (t(1-t)^\alpha + t^{\alpha+1}) dt \right) \\
 & \times \left( \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right| \int_0^1 (\lambda^s(1-\lambda)^\beta + \lambda^{\beta+s}) d\lambda + m \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( a, \frac{d}{m} \right) \right| \int_0^1 ((1-\lambda)^{\beta+s} + \lambda^\beta(1-\lambda)^s) d\lambda \right) \\
 & + \left( \int_0^1 ((1-t)^{\alpha+1} + t^\alpha(1-t)) dt \right) \\
 & \times \left( \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right| \int_0^1 (\lambda^s(1-\lambda)^\beta + \lambda^{\beta+s}) d\lambda + m \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( b, \frac{d}{m} \right) \right| \int_0^1 ((1-\lambda)^{\beta+s} + \lambda^\beta(1-\lambda)^s) d\lambda \right) \\
 = & \frac{(b-a)(d-c)}{4} \left( \frac{1}{2(s+1)} \left( \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right| + m \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( a, \frac{d}{m} \right) \right| \right) + \frac{1}{2(s+1)} \left( \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right| + m \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( b, \frac{d}{m} \right) \right| \right) \right. \\
 & + \frac{1}{\alpha+1} \left( B(s+1, \beta+1) + \frac{1}{\beta+s+1} \right) \left( \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right| + m \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( a, \frac{d}{m} \right) \right| \right) \\
 & + \frac{1}{\alpha+1} \left( B(s+1, \beta+1) + \frac{1}{\beta+s+1} \right) \left( \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right| + m \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( b, \frac{d}{m} \right) \right| \right) \\
 = & \frac{(b-a)(d-c)}{4} \left( \frac{1}{2(s+1)} + \frac{1}{\alpha+1} \left( B(s+1, \beta+1) + \frac{1}{\beta+s+1} \right) \right) \\
 & \times \left( \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right| + m \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( a, \frac{d}{m} \right) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right| + m \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( b, \frac{d}{m} \right) \right| \right),
 \end{aligned}$$

which is the desired result.  $\square$

**Corollary 3.4.** Under the conditions of Theorem 3.3,

1. If  $m = 1$ , then

$$\begin{aligned}
 & |F(f, a, b, c, b, \alpha, \beta, A, J)| \\
 \leq & \frac{(b-a)(d-c)}{4} \left( \left( \frac{1}{2(s+1)} + \frac{1}{\alpha+1} \left( B(s+1, \beta+1) + \frac{1}{\beta+s+1} \right) \right) \times \left( \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right| \right) \right).
 \end{aligned}$$

2. If  $s = 1$ , then

$$\begin{aligned}
 & |F(f, a, b, c, b, \alpha, \beta, A, J)| \\
 \leq & \frac{(b-a)(d-c)}{4} \left( \left( \frac{1}{4} + \frac{1}{(\alpha+1)(\beta+1)} \right) \times \left( \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right| + m \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( a, \frac{d}{m} \right) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right| + m \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( b, \frac{d}{m} \right) \right| \right) \right).
 \end{aligned}$$

3. If  $m = s = 1$ , then

$$|F(f, a, b, c, b, \alpha, \beta, A, J)| \leq \frac{(b-a)(d-c)}{4} \left( \left( \frac{1}{4} + \frac{1}{(\alpha+1)(\beta+1)} \right) \times \left( \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right| \right) \right).$$

4. If  $\alpha = \beta = 1$ , then

$$\begin{aligned}
 & \left| f\left(\frac{a+b}{2}, \frac{c+d}{2}\right) - \frac{f\left(a, \frac{c+d}{2}\right) + f\left(\frac{a+b}{2}, c\right) + f\left(b, \frac{c+d}{2}\right) + f\left(\frac{a+b}{2}, d\right)}{2} + A - \frac{1}{(b-a)(d-c)} \int_a^b \int_c^d f(x, y) dy dx \right| \\
 \leq & \frac{(b-a)(d-c)}{4(s+1)} \times \left( \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right| + m \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( a, \frac{d}{m} \right) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right| + m \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( b, \frac{d}{m} \right) \right| \right).
 \end{aligned}$$

5. If  $\alpha = \beta = s = 1$ , then

$$\left| f\left(\frac{a+b}{2}, \frac{c+d}{2}\right) - \frac{f\left(a, \frac{c+d}{2}\right) + f\left(\frac{a+b}{2}, c\right) + f\left(b, \frac{c+d}{2}\right) + f\left(\frac{a+b}{2}, d\right)}{2} + A - \frac{1}{(b-a)(d-c)} \int_a^b \int_c^d f(x, y) dy dx \right| \leq \frac{(b-a)(d-c)}{8} \times \left( \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right| + m \left| \frac{\partial^2 f}{\partial t \partial \lambda}\left(a, \frac{d}{m}\right) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right| + m \left| \frac{\partial^2 f}{\partial t \partial \lambda}\left(b, \frac{d}{m}\right) \right| \right).$$

6. If  $\alpha = \beta = m = 1$ , then

$$\left| f\left(\frac{a+b}{2}, \frac{c+d}{2}\right) - \frac{f\left(a, \frac{c+d}{2}\right) + f\left(\frac{a+b}{2}, c\right) + f\left(b, \frac{c+d}{2}\right) + f\left(\frac{a+b}{2}, d\right)}{2} + A - \frac{1}{(b-a)(d-c)} \int_a^b \int_c^d f(x, y) dy dx \right| \leq \frac{(b-a)(d-c)}{4(s+1)} \times \left( \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right| \right).$$

7. If  $\alpha = \beta = s = m = 1$ , then

$$\left| f\left(\frac{a+b}{2}, \frac{c+d}{2}\right) - \frac{f\left(a, \frac{c+d}{2}\right) + f\left(\frac{a+b}{2}, c\right) + f\left(b, \frac{c+d}{2}\right) + f\left(\frac{a+b}{2}, d\right)}{2} + A - \frac{1}{(b-a)(d-c)} \int_a^b \int_c^d f(x, y) dy dx \right| \leq \frac{(b-a)(d-c)}{8} \times \left( \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right| \right),$$

where

$$A = \frac{1}{2(b-a)} \int_a^b (f(x, c) + f(x, d)) dx + \frac{1}{2(d-c)} \int_c^d (f(a, y) + f(b, y)) dy.$$

**Theorem 3.5.** Let  $f : \Delta \rightarrow \mathbb{R}$  be a partially differentiable function on  $\Delta$  such that  $\left| \frac{\partial^2 f}{\partial t \partial \lambda} \right| \in L(\Delta_0)$ . If  $\left| \frac{\partial^2 f}{\partial t \partial \lambda} \right|^q$  is co-ordinated  $(\log, (s, m))$ -convex on  $\Delta_0$  where  $p, q > 1$  with  $\frac{1}{p} + \frac{1}{q} = 1$  for some fixed  $s, m \in (0, 1]$ , then the following fractional inequality holds

$$\begin{aligned} |F(f, a, b, c, b, \alpha, \beta, A, J)| &\leq \frac{(b-a)(d-c)}{2^{4+\frac{2}{q}+\frac{s}{q}}(s+1)^{\frac{1}{q}}} \left( \left( \frac{\Upsilon_1 + (2^{s+1}-1)m\Psi_{1,m}}{s+1} \right)^{\frac{1}{q}} + \left( \frac{(2^{s+1}-1)\Upsilon_1 + m\Psi_{1,m}}{s+1} \right)^{\frac{1}{q}} \right. \\ &+ \left( \frac{\Upsilon_2 + (2^{s+1}-1)m\Psi_{2,m}}{s+1} \right)^{\frac{1}{q}} + \left. \left( \frac{(2^{s+1}-1)\Upsilon_2 + m\Psi_{2,m}}{s+1} \right)^{\frac{1}{q}} \right) \\ &+ \frac{16 \times 2^{\frac{s}{q}+\frac{1}{q}} \left( \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q + m \left( \left| \frac{\partial^2 f}{\partial t \partial \lambda}\left(a, \frac{d}{m}\right) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}\left(b, \frac{d}{m}\right) \right|^q \right) \right)^{\frac{1}{q}}}{(\alpha p + 1)^{\frac{1}{p}} (\beta p + 1)^{\frac{1}{p}}}, \end{aligned}$$

where

$$\Upsilon_1 = \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right|^q + 3 \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q, \tag{3.10}$$

$$\Psi_{1,m} = \left| \frac{\partial^2 f}{\partial t \partial \lambda}\left(a, \frac{d}{m}\right) \right|^q + 3 \left| \frac{\partial^2 f}{\partial t \partial \lambda}\left(b, \frac{d}{m}\right) \right|^q, \tag{3.11}$$

$$\Upsilon_2 = 3 \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q, \tag{3.12}$$

$$\Psi_{2,m} = 3 \left| \frac{\partial^2 f}{\partial t \partial \lambda}\left(a, \frac{d}{m}\right) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}\left(b, \frac{d}{m}\right) \right|^q, \tag{3.13}$$

and  $F$  is defined as in (3.2).



**Proof .** From Lemma 3.2, properties of modulus, and Hölder inequality, we have

$$\begin{aligned}
 |F(f, a, b, c, b, \alpha, \beta, A, J)| &\leq \frac{(b-a)(d-c)}{4} \times \left( \left( \int_0^1 \int_0^1 dt d\lambda \right)^{\frac{1}{p}} \left( \int_0^{\frac{1}{2}} \int_0^{\frac{1}{2}} \left| \frac{\partial^2 f}{\partial t \partial \lambda} (ta + (1-t)b, \lambda c + (1-\lambda)d) \right|^q dt d\lambda \right)^{\frac{1}{q}} \right) \\
 &+ \left( \int_0^{\frac{1}{2}} \int_{\frac{1}{2}}^1 dt d\lambda \right)^{\frac{1}{p}} \left( \int_0^{\frac{1}{2}} \int_0^1 \left| \frac{\partial^2 f}{\partial t \partial \lambda} (ta + (1-t)b, \lambda c + (1-\lambda)d) \right|^q dt d\lambda \right)^{\frac{1}{q}} \\
 &+ \left( \int_{\frac{1}{2}}^1 \int_0^{\frac{1}{2}} dt d\lambda \right)^{\frac{1}{p}} \left( \int_{\frac{1}{2}}^1 \int_0^1 \left| \frac{\partial^2 f}{\partial t \partial \lambda} (ta + (1-t)b, \lambda c + (1-\lambda)d) \right|^q dt d\lambda \right)^{\frac{1}{q}} \\
 &+ \left( \int_{\frac{1}{2}}^1 \int_{\frac{1}{2}}^1 dt d\lambda \right)^{\frac{1}{p}} \left( \int_{\frac{1}{2}}^1 \int_{\frac{1}{2}}^1 \left| \frac{\partial^2 f}{\partial t \partial \lambda} (ta + (1-t)b, \lambda c + (1-\lambda)d) \right|^q dt d\lambda \right)^{\frac{1}{q}} \\
 &+ \left( \int_0^1 \int_0^1 (1-t)^{\alpha p} (1-\lambda)^{\beta p} dt d\lambda \right)^{\frac{1}{p}} + \left( \int_0^1 \int_0^1 t^{\alpha p} (1-\lambda)^{\beta p} dt d\lambda \right)^{\frac{1}{p}} + \left( \int_0^1 \int_0^1 (1-t)^{\alpha p} \lambda^{\beta p} dt d\lambda \right)^{\frac{1}{p}} \\
 &+ \left( \int_0^1 \int_0^1 t^{\alpha p} \lambda^{\beta p} dt d\lambda \right)^{\frac{1}{p}} \times \left( \int_0^1 \int_0^1 \left| \frac{\partial^2 f}{\partial t \partial \lambda} (ta + (1-t)b, \lambda c + (1-\lambda)d) \right|^q dt d\lambda \right)^{\frac{1}{q}} \\
 &= \frac{(b-a)(d-c)}{4^{1+\frac{1}{p}}} \left( \left( \int_0^{\frac{1}{2}} \int_0^{\frac{1}{2}} \left| \frac{\partial^2 f}{\partial t \partial \lambda} (ta + (1-t)b, \lambda c + (1-\lambda)d) \right|^q dt d\lambda \right)^{\frac{1}{q}} + \left( \int_0^{\frac{1}{2}} \int_{\frac{1}{2}}^1 \left| \frac{\partial^2 f}{\partial t \partial \lambda} (ta + (1-t)b, \lambda c + (1-\lambda)d) \right|^q dt d\lambda \right)^{\frac{1}{q}} \right) \\
 &+ \left( \int_{\frac{1}{2}}^1 \int_0^{\frac{1}{2}} \left| \frac{\partial^2 f}{\partial t \partial \lambda} (ta + (1-t)b, \lambda c + (1-\lambda)d) \right|^q dt d\lambda \right)^{\frac{1}{q}} + \left( \int_{\frac{1}{2}}^1 \int_{\frac{1}{2}}^1 \left| \frac{\partial^2 f}{\partial t \partial \lambda} (ta + (1-t)b, \lambda c + (1-\lambda)d) \right|^q dt d\lambda \right)^{\frac{1}{q}} \\
 &+ \frac{4^{1+\frac{1}{p}}}{(\alpha p+1)^{\frac{1}{p}} (\beta p+1)^{\frac{1}{p}}} \times \left( \int_0^1 \int_0^1 \left| \frac{\partial^2 f}{\partial t \partial \lambda} (ta + (1-t)b, \lambda c + (1-\lambda)d) \right|^q dt d\lambda \right)^{\frac{1}{q}}.
 \end{aligned}$$

Using the  $(\log, (s, m))$ -convexity on the co-ordinates of  $\left| \frac{\partial^2 f}{\partial t \partial \lambda} \right|^q$  and Young's inequality, we obtain

$$\begin{aligned}
 |F(f, a, b, c, b, \alpha, \beta, A, J)| &\leq \frac{(b-a)(d-c)}{4^{1+\frac{1}{p}}} \left( \left( \int_0^{\frac{1}{2}} \int_0^{\frac{1}{2}} t \left[ \lambda^s \left| \frac{\partial^2 f}{\partial t \partial \lambda} (a, c) \right|^q + m(1-\lambda)^s \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( a, \frac{d}{m} \right) \right|^q \right] dt d\lambda \right. \right. \\
 &+ \left. \int_0^{\frac{1}{2}} \int_0^{\frac{1}{2}} (1-t) \left[ \lambda^s \left| \frac{\partial^2 f}{\partial t \partial \lambda} (b, c) \right|^q + m((1-\lambda)^s \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( b, \frac{d}{m} \right) \right|^q \right] dt d\lambda \right)^{\frac{1}{q}} \\
 &+ \left( \int_0^{\frac{1}{2}} \int_{\frac{1}{2}}^1 t \left[ \lambda^s \left| \frac{\partial^2 f}{\partial t \partial \lambda} (a, c) \right|^q + m(1-\lambda)^s \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( a, \frac{d}{m} \right) \right|^q \right] dt d\lambda \right. \\
 &\left. \left. + \int_{\frac{1}{2}}^1 \int_{\frac{1}{2}}^1 (1-t) \left[ \lambda^s \left| \frac{\partial^2 f}{\partial t \partial \lambda} (b, c) \right|^q + m((1-\lambda)^s \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( b, \frac{d}{m} \right) \right|^q \right] dt d\lambda \right)^{\frac{1}{q}} \right)
 \end{aligned}$$

$$\begin{aligned}
 & + \int_0^{\frac{1}{2}} \int_{\frac{1}{2}}^1 (1-t) \left[ \lambda^s \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q + m((1-\lambda)^s \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( b, \frac{d}{m} \right) \right|^q) \right] dt d\lambda \Big)^{\frac{1}{q}} \\
 & + \left( \int_{\frac{1}{2}}^1 \int_0^{\frac{1}{2}} t \left[ \lambda^s \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right|^q + m(1-\lambda)^s \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( a, \frac{d}{m} \right) \right|^q \right] dt d\lambda \right. \\
 & + \int_{\frac{1}{2}}^1 \int_0^{\frac{1}{2}} (1-t) \left[ \lambda^s \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q + m((1-\lambda)^s \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( b, \frac{d}{m} \right) \right|^q) \right] dt d\lambda \Big)^{\frac{1}{q}} \\
 & + \left( \int_{\frac{1}{2}}^1 \int_{\frac{1}{2}}^1 t \left[ \lambda^s \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right|^q + m(1-\lambda)^s \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( a, \frac{d}{m} \right) \right|^q \right] dt d\lambda \right. \\
 & + \left. \int_{\frac{1}{2}}^1 \int_{\frac{1}{2}}^1 (1-t) \left[ \lambda^s \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q + m((1-\lambda)^s \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( b, \frac{d}{m} \right) \right|^q) \right] dt d\lambda \right)^{\frac{1}{q}} \\
 & + \frac{4^{1+\frac{1}{p}}}{(\alpha p+1)^{\frac{1}{p}} (\beta p+1)^{\frac{1}{p}}} \times \left( \int_0^1 \int_0^1 t \left[ \lambda^s \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right|^q + m(1-\lambda)^s \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( a, \frac{d}{m} \right) \right|^q \right] dt d\lambda \right. \\
 & + \left. \int_0^1 \int_0^1 (1-t) \left[ \lambda^s \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q + m((1-\lambda)^s \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( b, \frac{d}{m} \right) \right|^q) \right] dt d\lambda \right)^{\frac{1}{q}} \\
 = & \frac{(b-a)(d-c)}{2^{4+\frac{2}{q}+\frac{s}{q}}(s+1)^{\frac{1}{q}}} \times \left( \left( \frac{\left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right|^q + 3 \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q + (2^{s+1}-1)m \left( \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( a, \frac{d}{m} \right) \right|^q + 3 \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( b, \frac{d}{m} \right) \right|^q \right)}{s+1} \right)^{\frac{1}{q}} \right. \\
 & + \left( \frac{(2^{s+1}-1) \left( \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right|^q + 3 \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q \right) + m \left( \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( a, \frac{d}{m} \right) \right|^q + 3 \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( b, \frac{d}{m} \right) \right|^q \right)}{s+1} \right)^{\frac{1}{q}} \\
 & + \left( \frac{3 \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q + (2^{s+1}-1)m \left( 3 \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( a, \frac{d}{m} \right) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( b, \frac{d}{m} \right) \right|^q \right)}{s+1} \right)^{\frac{1}{q}} \\
 & + \left( \frac{(2^{s+1}-1) \left( 3 \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q \right) + m \left( 3 \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( a, \frac{d}{m} \right) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( b, \frac{d}{m} \right) \right|^q \right)}{s+1} \right)^{\frac{1}{q}} \\
 & + \frac{16 \times 2^{\frac{s}{q}+\frac{1}{q}}}{(\alpha p+1)^{\frac{1}{p}} (\beta p+1)^{\frac{1}{p}}} \times \left( \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q + m \left( \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( a, \frac{d}{m} \right) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda} \left( b, \frac{d}{m} \right) \right|^q \right) \right)^{\frac{1}{q}},
 \end{aligned}$$

which is the desired result.  $\square$

**Corollary 3.6.** Under the conditions of Theorem 3.5,

1. If  $m = 1$ , then

$$|F(f, a, b, c, b, \alpha, \beta, A, J)| \leq \frac{(b-a)(d-c)}{2^{4+\frac{2}{q}+\frac{s}{q}}(s+1)^{\frac{1}{q}}} \left( \left( \frac{\Upsilon_1 + (2^{s+1}-1)\Psi_{1,1}}{s+1} \right)^{\frac{1}{q}} + \left( \frac{(2^{s+1}-1)\Upsilon_1 + \Psi_{1,1}}{s+1} \right)^{\frac{1}{q}} \right. \\ \left. + \left( \frac{\Upsilon_2 + (2^{s+1}-1)\Psi_{2,1}}{s+1} \right)^{\frac{1}{q}} + \left( \frac{(2^{s+1}-1)\Upsilon_2 + \Psi_{2,1}}{s+1} \right)^{\frac{1}{q}} \right. \\ \left. + \frac{16 \times 2^{\frac{s}{q}+\frac{1}{q}} \left( \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a,c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b,c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a,d) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b,d) \right|^q \right)^{\frac{1}{q}}}{(\alpha p+1)^{\frac{1}{p}}(\beta p+1)^{\frac{1}{p}}} \right).$$

2. If  $s = 1$ , then

$$|F(f, a, b, c, b, \alpha, \beta, A, J)| \leq \frac{(b-a)(d-c)}{2^{4+\frac{4}{q}}} \\ \left( \left( \frac{\Upsilon_1 + 3m\Psi_{1,m}}{2} \right)^{\frac{1}{q}} + \left( \frac{3\Upsilon_1 + m\Psi_{1,m}}{2} \right)^{\frac{1}{q}} + \left( \frac{\Upsilon_2 + 3m\Psi_{2,m}}{2} \right)^{\frac{1}{q}} + \left( \frac{3\Upsilon_2 + m\Psi_{2,m}}{2} \right)^{\frac{1}{q}} \right. \\ \left. + \frac{16 \times 2^{\frac{2}{q}} \left( \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a,c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b,c) \right|^q + m \left( \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, \frac{d}{m}) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, \frac{d}{m}) \right|^q \right) \right)^{\frac{1}{q}}}{(\alpha p+1)^{\frac{1}{p}}(\beta p+1)^{\frac{1}{p}}} \right).$$

3. If  $m = s = 1$ , then

$$|F(f, a, b, c, b, \alpha, \beta, A, J)| \leq \frac{(b-a)(d-c)}{2^{4+\frac{4}{q}}} \\ \left( \left( \frac{\Upsilon_1 + 3\Psi_{1,1}}{2} \right)^{\frac{1}{q}} + \left( \frac{3\Upsilon_1 + \Psi_{1,1}}{2} \right)^{\frac{1}{q}} + \left( \frac{\Upsilon_2 + 3\Psi_{2,1}}{2} \right)^{\frac{1}{q}} + \left( \frac{3\Upsilon_2 + \Psi_{2,1}}{2} \right)^{\frac{1}{q}} \right. \\ \left. + \frac{16 \times 2^{\frac{2}{q}} \left( \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a,c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b,c) \right|^q + m \left( \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a,d) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b,d) \right|^q \right) \right)^{\frac{1}{q}}}{(\alpha p+1)^{\frac{1}{p}}(\beta p+1)^{\frac{1}{p}}} \right).$$

4. If  $\alpha = \beta = 1$ , then

$$\left| f\left(\frac{a+b}{2}, \frac{c+d}{2}\right) - \frac{f\left(a, \frac{c+d}{2}\right) + f\left(\frac{a+b}{2}, c\right) + f\left(b, \frac{c+d}{2}\right) + f\left(\frac{a+b}{2}, d\right)}{2} + A - \frac{1}{(b-a)(d-c)} \int_a^b \int_c^d f(x, y) dy dx \right| \\ \leq \frac{(b-a)(d-c)}{2^{4+\frac{2}{q}+\frac{s}{q}}(s+1)^{\frac{1}{q}}} \left( \left( \frac{\Upsilon_1 + (2^{s+1}-1)m\Psi_{1,m}}{s+1} \right)^{\frac{1}{q}} + \left( \frac{(2^{s+1}-1)\Upsilon_1 + m\Psi_{1,m}}{s+1} \right)^{\frac{1}{q}} \right. \\ \left. + \left( \frac{\Upsilon_2 + (2^{s+1}-1)m\Psi_{2,m}}{s+1} \right)^{\frac{1}{q}} + \left( \frac{(2^{s+1}-1)\Upsilon_2 + m\Psi_{2,m}}{s+1} \right)^{\frac{1}{q}} \right. \\ \left. + \frac{16 \times 2^{\frac{s}{q}+\frac{1}{q}} \left( \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a,c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b,c) \right|^q + m \left( \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, \frac{d}{m}) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, \frac{d}{m}) \right|^q \right) \right)^{\frac{1}{q}}}{(p+1)^{\frac{2}{p}}} \right).$$

5. If  $\alpha = \beta = m = 1$ , then

$$\begin{aligned} & \left| f\left(\frac{a+b}{2}, \frac{c+d}{2}\right) - \frac{f\left(a, \frac{c+d}{2}\right) + f\left(\frac{a+b}{2}, c\right) + f\left(b, \frac{c+d}{2}\right) + f\left(\frac{a+b}{2}, d\right)}{2} + A - \frac{1}{(b-a)(d-c)} \int_a^b \int_c^d f(x, y) dy dx \right| \\ & \leq \frac{(b-a)(d-c)}{2^{4+\frac{2}{q}+\frac{s}{q}}(s+1)^{\frac{1}{q}}} \left( \left( \frac{\Upsilon_1 + (2^{s+1}-1)\Psi_{1,1}}{s+1} \right)^{\frac{1}{q}} + \left( \frac{(2^{s+1}-1)\Upsilon_1 + \Psi_{1,1}}{s+1} \right)^{\frac{1}{q}} \right. \\ & \quad + \left( \frac{\Upsilon_2 + (2^{s+1}-1)\Psi_{2,1}}{s+1} \right)^{\frac{1}{q}} + \left. \left( \frac{(2^{s+1}-1)\Upsilon_2 + \Psi_{2,1}}{s+1} \right)^{\frac{1}{q}} \right. \\ & \quad \left. + \frac{16 \times 2^{\frac{s}{q}+\frac{1}{q}} \left( \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right|^q \right)^{\frac{1}{q}}}{(p+1)^{\frac{2}{p}}} \right). \end{aligned}$$

6. If  $\alpha = \beta = s = 1$ , then

$$\begin{aligned} & \left| f\left(\frac{a+b}{2}, \frac{c+d}{2}\right) - \frac{f\left(a, \frac{c+d}{2}\right) + f\left(\frac{a+b}{2}, c\right) + f\left(b, \frac{c+d}{2}\right) + f\left(\frac{a+b}{2}, d\right)}{2} + A - \frac{1}{(b-a)(d-c)} \int_a^b \int_c^d f(x, y) dy dx \right| \\ & \leq \frac{(b-a)(d-c)}{2^{4+\frac{4}{q}}} \left( \left( \frac{\Upsilon_1 + 3m\Psi_{1,m}}{2} \right)^{\frac{1}{q}} + \left( \frac{3\Upsilon_1 + m\Psi_{1,m}}{2} \right)^{\frac{1}{q}} + \left( \frac{\Upsilon_2 + 3m\Psi_{2,m}}{2} \right)^{\frac{1}{q}} + \left( \frac{3\Upsilon_2 + m\Psi_{2,m}}{2} \right)^{\frac{1}{q}} \right. \\ & \quad \left. + \frac{16 \times 2^{\frac{2}{q}} \left( \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q + m \left( \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, \frac{d}{m}) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, \frac{d}{m}) \right|^q \right) \right)^{\frac{1}{q}}}{(p+1)^{\frac{2}{p}}} \right). \end{aligned}$$

7. If  $\alpha = \beta = m = s = 1$ , then

$$\begin{aligned} & \left| f\left(\frac{a+b}{2}, \frac{c+d}{2}\right) - \frac{f\left(a, \frac{c+d}{2}\right) + f\left(\frac{a+b}{2}, c\right) + f\left(b, \frac{c+d}{2}\right) + f\left(\frac{a+b}{2}, d\right)}{2} + A - \frac{1}{(b-a)(d-c)} \int_a^b \int_c^d f(x, y) dy dx \right| \\ & \leq \frac{(b-a)(d-c)}{2^{4+\frac{4}{q}}} \left( \left( \frac{\Upsilon_1 + 3\Psi_{1,1}}{2} \right)^{\frac{1}{q}} + \left( \frac{3\Upsilon_1 + \Psi_{1,1}}{2} \right)^{\frac{1}{q}} + \left( \frac{\Upsilon_2 + 3\Psi_{2,1}}{2} \right)^{\frac{1}{q}} + \left( \frac{3\Upsilon_2 + \Psi_{2,1}}{2} \right)^{\frac{1}{q}} \right. \\ & \quad \left. + \frac{16 \times 2^{\frac{2}{q}} \left( \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, c) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(a, d) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(b, d) \right|^q \right)^{\frac{1}{q}}}{(p+1)^{\frac{2}{p}}} \right), \end{aligned}$$

where  $\Upsilon_1, \Psi_{1,m}, \Upsilon_2, \Psi_{2,m}$  are defined as in (3.11)-(3.14) respectively, and

$$A = \frac{1}{2(b-a)} \int_a^b (f(x, c) + f(x, d)) dx + \frac{1}{2(d-c)} \int_c^d (f(a, y) + f(b, y)) dy.$$

**References**

[1] A. Akkurt, M. Z. Sarıkaya, H. Budak and H. Yildırım, *On the Hadamard’s type inequalities for co-ordinated convex functions via fractional integrals*, J. King Saud Univ. Sci. **29** (2017), no. 3, 380–387.  
 [2] A. Alomari and M. Darus, *The Hadamard’s inequality for s-convex function of 2-variables on the co-ordinates*. Int. J. Math. Anal. (Ruse) **2** (2008), no. 13-16, 629–638.  
 [3] S.-P. Bai and F. Qi, *Some inequalities for  $(s_1, m_1)$ - $(s_2, m_2)$ -convex functions on the co-ordinates*, Global J. Math. Anal. **1** (2013), no 1, 22–28.

- [4] S.S. Dragomir, *On the Hadamard's inequality for convex functions on the co-ordinates in a rectangle from the plane*, Taiwan. J. Math. **5** (2001), no. 4, 775–788.
- [5] A.A. Kilbas, H.M. Srivastava and J.J. Trujillo, *Theory and applications of fractional differential equations*, North-Holland Mathematics Studies, 204. Elsevier Science B.V., Amsterdam, 2006.
- [6] M.A. Latif and M. Alomari, *Hadamard-type inequalities for product two convex functions on the co-ordinates*, Int. Math. Forum **4** (2009), no. 45-48, 2327–2338.
- [7] M.A. Latif and S.S. Dragomir, *Some Hermite-Hadamard type inequalities for functions whose partial derivatives in absolute value are preinvex on the co-ordinates*, Facta Univ. Ser. Math. Inf. **28** (2013), no. 3, 257–270.
- [8] B. Meftah and M. Merad, *Hermite-Hadamard type inequalities for functions whose  $n$ th order of derivatives are  $s$ -convex in the second sense*, Rev. Mate. Univ. Atlánt. Páginas **4** (2017), no. 2, 87–99.
- [9] B. Meftah and A. Souahi, *Fractional Hermite-Hadamard type inequalities for co-ordinated  $MT$ -convex functions*. Turkish J. Ineq. **2** (2018), no. 1, 76-86.
- [10] M. Merad, B. Meftah and N. Ouanas, *Fractional Hermite-Hadamard type inequalities for  $n$ -times  $r$ -convex functions*, Proc. Jangjeon Math. Soc. **21** (2018), no. 2, 253–292.
- [11] N. Ouanas, B. Meftah and M. Merad, *Fractional Hermite-Hadamard type inequalities for  $n$ -times log-convex functions*, Int. J. Nonlinear Anal. Appl. **9** (2018), no 1, 211–221.
- [12] J. Pečarić, F. Proschan and Y.L. Tong, *Convex functions, partial orderings, and statistical applications*, Mathematics in Science and Engineering, 187. Academic Press, Inc., Boston, MA, 1992.
- [13] M.Z. Sarıkaya, *On the Hermite-Hadamard-type inequalities for co-ordinated convex function via fractional integrals*, Integral Transforms Spec. Funct. **25** (2014), no. 2, 134–147.
- [14] M.Z. Sarıkaya, E.Set, M.E. Özdemir and S.S. Dragomir, *New some Hadamard's type inequalities for co-ordinated convex functions*, Tamsui Oxf. J. Inf. Math. Sci. **28** (2012), no. 2, 137–152.
- [15] B.-Y. Xi and F. Qi, *Some new integral inequalities of Hermite-Hadamard type for  $(\log, (\alpha, m))$ -convex functions on co-ordinates*, Stud. Univ. Babeş-Bolyai Math. **60** (2015), no. 4, 509–525.
- [16] B.-Y. Xi, C.-Y. He and F. Qi, *Some new inequalities of the Hermite-Hadamard type for extended  $(s_1, m_1)$ - $(s_2, m_2)$ -convex functions on co-ordinates*, Cogent Math. **3** (2016), Art. ID 1267300, 15 pp.